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Find the length of AB.
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Find the length of AB.

11. 12.
8 D
X 30 - 3%
20 C
I A Xg a C
4 =z 30
52 20 .\l = %.L'.\.
X |
JOX = 1560
< . Yy =357
=7
x= 0%
Find the value of x.
13. 14.
X 5
24
6
X =5
24 (o
X = 2.0
15.
9\
30
‘\/
X x+6
20-% = %
4.2 X B
X Xlp \
2BO-\ux = VA
Ax +o4 = 21X 920 = 25X
By = l2xn

o b Xx=\.2



Find the value of x.
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21. The road from Central City on the map shown bisects the angle formed by the roads from
Central City to Minville and from Central City to Oceanview. Central City is 12 miles from
Oceanview, Minville is 6 miles from the beach, and Oceanview is 8 miles from the beach. How far is
Central City from Minville?
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: Determine the length of each segment.
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